B A /Pant-IGen/ECOG-1/2017

B.A. General Part-1 Examinations, 2017
EcONOMICS-GENERAL

PAPER-ECOG-1
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

Group-A / = [ wie-»
1. Answer any five questions in short from the following: 2x5=10

e el of6f® oo sy Tez wies
g dfeger weeT BT IO SEEN:

(a) What will be the value of Marginal Product when Total Product is
maximum?
TP-4% W FEE o MP-«% 206 29 573 ¢
Fol Seure waifes wu R SomEe g o e 2

(b) If Marginal Revenue (MR) = 2 and elasticily of demand (ed) = 2, then what
will be the value of Average Revenue (AR)?
M MR =2 &= ed = 2 T8, B8 AR-43 W+ ¥ 274
aft MR =2 U0 ed = 2 §117 AR #) 91 (q59) 9f w0 ?

(¢) What do you understand by complementary goods and substitute goods?
s 79 & e vy qore B @ g
wRyzw 7% 3 wRaffa o e & 1Rro 7

(d) What is Opportunity Cost?
e 4 9w fE e e
GUE AT W B 2
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(¢) What do you mean by ‘law of variable proportion?
‘s = { e Far e
e s Fa oS @ 3R 7
(f) State the law of diminishing marginal utility.
g offee Toonen {fE e & anan ¢
somreT foars sy P we @ 4 2
(2) What do you mean by constant returns to scale?
yraegs efewicaa o 7ome 7 oot ¢
TATEN WeadA®] B9 q=a B 4 7
(h) What will be the shape of indifference curve when two goods are perfect
substitutes?
#f5 wa #if viffed T T FErers o SgTe @ XA 7
géaer 7w Qe uRafia awg Ty Feda e arght o §9 7

Group-B /[ e [ W= _
Answer any fwe questions from the following 10x2 =20
TRl m-co 56 @ Ten Te
7 a4l W 9T SEEN
2. (a) What do you understand by total utility and marginal utility? 4+6

15 Teigwst & eifes Eeirars 9e0e @ @ 2
ot ST ¥ Rem SeEm 4= @ gHET 7
(b) Show the relationship between total utility and marginal utility with the help
of a diagram.
f6z st A% 8 elift Sommr 7=iE SiEisal FeE
Ry wermaTel we ¥ Ry S Arse) e e aE |

A Determine the relationship between AR and MR under perfect eompetition 10
and imperfect competition.
o eferifie ¢ wein afbmifom A1E1@ AR € MR-42 300 7R e
Lol
iy s ¥ sgeity SRENfaTe! @R AR ¥ MR ST
vt e |
1118 %
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4. (2) What is budget line?
e G e
o Yar B 8 ?
(b) How is it constructed?
o3 @ e o T e
At (aore ) sl e TR
(c) Define price elasticity, income elasticity and cross elasticity of demand.
s W fifveres, ame fifeayer o e RfEgerem e
L il

HITEH)
e |
5. (a) What is law of demand?
w5 B e
wrTT A & 8 7
(b) Why does demand curve slope downward from left to right?

SR T o AT (40 SIS [T %5, S
TR T e SawTE Sieas el g, gel THE |

2+2+6

@m_maﬂquﬁwmm

2+8

Group-C / RS-t [ w911
Answer any ene question from the following 20x1=120
fomtis -0 =it 2w Tes e
T T T NI SOY oregeny
6. (1) What is indifference curve?
s ey
foreter @ () wH@r @ B 7
(b) Discuss different properties of indifference curve.
et (A ofd el )
i T SUTEFEHER w9 THE |

2+6+12
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(¢) Discuss and illustrate with the help of indifference curve:

(i) Price effect (ii) Income effect (iii) Substitution effect

aremEE Ay W HER, WE 2eW € *Rae eel SRR Siomoel
Al

Frde Twe wETgae (i) o9 WA (i) 8T WEE ¥ (i) WiERenfie o
uftafde wear HEEee w8l e |

7. (a) How would you measure price elasticity of demand at a particular point of

straight line demand curve?

GaT Tty siEw @em ol e feg Sem sfitwr e ffewree
g fersita sifamiv $aa 7

USTl WYel e A YIEE! Teel Miaw Al AEer wrT qed
e B gy g 2

(b) Show that price elasticity of demand varies from zero to infinity on a

straight line demand curve:
e o relafe s ce Beir sifEnm whene R WW T o
G e A

W Yaw Am e WY A e MWt wE IEEela
sfiHed oFE W EESEE |

8. (a) What is Marginal Cost (MC) and what will be the shape of MC curve.

Hifee T 7 g i TR weie G g
R @ @l ® 87 7 S R A Y& i ol 59 7

(b) Establish a relation between AC and MC with suitable diagram.

i @ sfemE S TRl Twead ¢ o wEms -

R (AC) @Mg 3 3wa (MC) SN 9iEaT 9 fEe gerad
|

(c) Show that long run average cost curve is the envelope of short run average

1118

cosl curves.

orete c MGl A1 TE, THAEA S1E JasteEE FREFA (envelope)

@
G115 G 20 B (o O £ O =2 o o 12 e e D e e A
3G B A JHRETEI |

10+10
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.A. General Part-1 Examinations, 2017

EconOoMICS-GENERAL
PAarPER-ECOG-II

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required fo give their answers in their own words as far as practicable.
All symbols are of usual significance.

Group-A
frent-=
His-®
I Answer any five questions from the following: 2%x5 =10
(@) What is ‘money™?
wd F0e FF @i ¢
T Wl @ aftrs 7
(b) What do you mean by *depreciation’?
6T TG [ (EA ¢

AT TS B B 7

(¢) Mention two determining factors of MPC.
MPC frereia 5i0 B Sy =
MPC iR 77 GEacien® seoid THen |
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{d) Show that MPC + MPS = |
orfle MPC + MPS = |
SEraEE MPC + MPS = 1
(e) What do you mean by “effective demand”?
‘wriea siie we & @ ¢
WHIEHN A1 T @ §EFD 7
(f) Estimate the value of multiplier when the value of MPC is 0.5.
MPC-43 WM 0.5 &5 9411 Wi faviw Seal)
MPC @I 3 0.5 90 oree) 31 et e |
(g) Why is beggar's income not inciuded in National Income?
fempras =R NS SEe W W A &
frariimT sngeng W smrn i aftefen TR 2
{(h) Define Price Index Number.
W FHrER’ TR We |

TojH® Sens! it Raen |

Group-B
frem-<
-
Answer any fwo questions from the following 10x2 =20
TEEIS (-Gl §i6 eirea Taa e
7 ghver wy S A

Distinguish betwetn the following: 2.5%4
FEEREE frraEE s IR

o dEreTgERy:

(a) Gross National Product (GNP) and Net National Product (NNP)
GNP &3 NNP
GNP ¥ NNP

!'-&

1119 B
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{b) Personal Income and Disposable Income.

FTEHs WT G TR S|
e ara ¥ By s

(c) Closed economy and open economy.

7o BTy @ T wdgTY)
qre spfaraer ¥ Eeen sriere |

(d) Autonomous invesiment and Induced imvestment.

1119

THFS RINCAT GR TFS ([ |
wafra e ¢ gafow ff |

How can you derive the savings function from the consumption function?
Explain with a suitable diagram.

(ST TS (W (SO Fe WS [T SHE 7 ST D FEeE e

A

I B B gEn seeE owd P T weet 7 e g
FoordE TR |

“Supply creates its own demand’ — Explain.

“crena e s sifen A s — e

“sigfere Ih ST AT gite o et e |

Write a short note on Keynesian Consumption function.
T cu e wrernres Beg «afh e Bren e

Bfgas 9w o ar wel el SegE |

10

10

10
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Group-C
st
W
Answer any one question from the following 20x1=20

e q-cenel ofp 2lios Tag e
G U HEAD] IO ey

6. (a) Discuss the “Value added method’ of measuring national income with 12+8
suitable example:

Wﬁmmmm-mwmmwm|
Ty ana aREEm geu wafer YSRt gR SugE SwEw Ry amen
THER |

(b) What are the muin difficulties of measuring national income?
S8R B AR g et i R e
wrsiva ANy GRENE] TR AMEE & B ] 7

7. (&) State and explain Cambridge version of the quantity theory of money. 1248
el e S Eae aEdilt SoE e i s
st o Rgrs) dfee WEpeIE] sEveTE ST eI |
(b) Distinguish between Cambridge version and Fisher’s version of the quantity
theory of money,
e i wrn b wrel- el e R AR o e <
-Wmmm?mﬂwwmm|

8. Explain critically the Keynesian theory of income and employment. 20
TGRS (@AaY SR s R ogib S 3w
FPaTET ama ¥ eR wEaAl fegra ar aremeers el 1eER |

1119
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COOCH BEHAR PANCHANAN BARMA UNIVERSITY
B.A. General Part-T Examinations, 2017

ECONOMICS-GENERAL

PAarEr-ECOG-III

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

Group-A
=i
WS
1. Answer any five questions from the following: 2x5=10
fraffite ci-coma o 2ivem Tae we:
g dieaer T TR SRR
(a) Define Poverty Line.
wifices Fairam e we
R Yar @ ey ar @ oRb REEg |
(b) Mention two important objectives of land reforms.
o wEE FHE 9 S Tm

Hff R FEiaciD] geact ST dUTEIEN |
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(c) Suggest two remedial measures to check the population growth in India.
ST ey e e 50 e ae)
AN SFHSXel gige Framavr 74 ggaer SuM JaeaEg |

{d) Mention two important causes of low productivity of agricultural output in
India.

SRTEE FWAE Fe-BeAMRETOR Hi5 o P TrEd S

ARG P GRS TS GEaer SN FaTSTEIN |
(e) What are the different types of unemployment found in rural India?
&t srre & & wrm o ol A g
e v AR W YeNES aaeTEy |
(f) What is ‘Operation Barga'?
w2l g
o n e g 8 1 £
(2) Explain the concept of *vicious circle of poverty’.
“wiives wive” yreefl = ==
TINEY gEF ST GRVIAN FHIGHE |
(h) ](;i‘:;n two important difficulties of the measurement of National Income in
d.
wie TR wE #feE 1 ewvel wnRem s S s
AINAD! it A AET AW gEaeT HEE AR aaree |

1120
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Group-B
et
wE-|
Answer any fwe questions from the following
frlwie a-cirn §f8 =om Sen we

Discuss the various initiatives taken by the Government of India to solve the
problems of agricultural eredit in India.

Se FERE P wer T e @ e Soun o2 e o SEsel
TN

JurgEeaR g Ry

Explain the major limitations in the measurement of national income in

India.

TS SER GR e e emRaef wism ww

wa A s Plver 15t e 1o e @ @ g2 R
THE |

Discuss the relationship between population growth and economic
development.

sl 6 ¢ wdnfew Sratmm g oo Qe =@
v gfE sift snftis e e e vegEgEy |

Write a note on the “vicious circle of poverty' in India. How can this circle
be broken?

EELS wWRT 1U-g7 Tom ol Bl eiceit1 % 51 farera wret = 9

aNaw! witEE gEE AR s ol deEiy ) @ gEw awd waw
urd wfe? JeE |

10=2 =20

Tum Over



B.A/Part-l/Gen/ECOG-I11/2017

Group-C
faert-st

s
Answer any one question from the following
e G-ene ool a0 Tes we
T USE FER ST SR
6. (a) Distinguish between developed and underdeveloped economy.
Tas wdif e wgEe wdEa e @l
faesftre v A= 29 wre M= SweEEig |

(b) Discuss the different features of an underdeveloped country with special
reference to India.

T sem Tngae Fens G SeEe oeE [ien (A Wbl S
HRA®! Feed enrge dwer i fewear B e

7. (a) Explain the nature of institutionalisation of rural credit.
ariit arem enfefearr «wfe s <@
AT FEoTE! HRAIEwE] yefter S e |

(b) Discuss the role of NABARD in strengthening the rural credit agencies.
aiffi wewed efebmefr wueHP #2R T NABARD-@ i
W1 A
%W HerEwag aferll AT NABARD & gfi@ren feur)
|

8. (1) Write a note on Green Revolution in India.
SRS HEEE FE «wl B el
HRA®H! B wifman ol seaEy)

(b) What are its shortcomings?
wd FesrafE &y
TEE drTaEaES & @ g 7

1120
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